[image: image1.jpg]Pelunre TpUroHoMeTpHYIECKHE
ypaBHeHuUs:

1. 2sin*x—S5sinx—7=0
2. 12sin®x+20cos x— 19=0

. 3sin®x+ 14sin x cos x + 8cos* x =0
7Ttgx—10ctgx+9=0

Ssin 2x — 14cos’ x +2 =0

9cos 2x — 4cos’ x = 11sin 2x + 9

PewnTe TpUroHOMETPHYECKHE
yPaBHEHHs:

1. 10sin®x+ 1Isinx—8=0

2. dsin*x—1lcosx—11=0

3. d4sin®x+9sinx cos x +2cos? x =0
4. 3tgx—8etgx+10=0

5. 3sin 2x+8sin’x=7

6. 10sin®x + 11sin 2x + 6cos 2x =—6

Pelunre TPHroHOMeTpUYECKHE
YPaBHEHHUS:

1. 6sin*x+ 11sinx+4=0
4sin’x—cosx+1=0

3sinx+ 11sinx cos x + 6cos? x=0
Stgx—8ctgx+6=0

sin 2x + 1 =4cos® x

14cos x + 3 = 3cos 2x — 10sin 2x

Pernre TpUroHOMETpHYIECKHE
YpaBHEHHUS:

1. 4sin’x+sinx—5=0

6sin®x + 7cos x—1=0

4sin® x + 11sin x cos x +6¢0s* x =0
Stgx—6etgx+13=0

3 —4sin® x =sin 2x

10sin 2x + 3cos 2x =3 — 14sin’ x

Peunte TpHroHOMETpHYECKHE
YPaBHEHHUS:

1. 10cos*x—17cos x +6 =0

2c0s? x + Ssinx+5=0

T

6sin”x + 13sin x cos x + 2cos* x =0
Stgx—4ctgx+8=0

6cos® x + 13sin 2x=—10

2sin? x + 6sin 2x = 7(1 + cos 2x)

Pemnre TPUTOHOMETPUYECKHUE
YPaBHEHMA:

1. 3cos’x—10cosx+7=0
2. 6eos’x+ Tsinx—1=0
3. 3sin’x+ 10sin x cosx + 3cos*x =0
6tgx—ldctgx+5=0
6sin2.;c+7sin2x+4=0

7 = Tsin 2x — 9cos 2x

Pelunte TpUroHOMeTpHUECKHe
ypaBHEHHUS:

1. 4cos’x+cosx—5=0
10cos* x— 17sinx - 16 =0

sin x + 6sin ¥ cos x + 8 cos’x =0

= o ®

3!gx—60tgx+7=0
2cos? x — 11sin 2x =12

2sin? x — 3sin 2x —4cos 2x =4

Peuure TPUroHOMETpHYECKHE
YPaBHEHHS:

1. 8cos’x—10cosx—7=0
4cos’x—sinx+1=0

3sin” x+ 10sin x cos x + 8cos?x =0
2tgx—12ctgx+5=0
14sin®x — 11sin 2x = 18

2sin 2x—3cos 2x =2

Pemnte TpuroHomMeTpuyeckue
yPaBHEHHS:

1. 3sin*x-7Tsinx+4=0
6sin*x— 11cos x—10=0
sin”x + Ssin x cos x + 6cos> x =0
4tgx—12ctgx+13=0

5 —8cos? x = sin 2x

7sin 2x + 9cos 2x =—7

Pewnte TpUroHomMeTpuyeckue
YPaBHEHHSI:

1. 6sin®x—7sinx—5=0

3sin’ x + 10cos x— 10 =0
2sin”x+ 11sinx cos x + 14cos? x =0
Jtgx—Sctgx+14=0

10sin” x — sin 2x = 8cos® x

n

1 — 6cos? x = 2sin 2x + cos 2x

&

Pewnre TPUTOHOMETPUYECKHE
YPaBHEHHUS:

1. 10sin®x~17sinx+6=0

5sin’ x— 12cos x— 12 =0

&

2sin® x + Ssin x cos x + 2cos? x =0
Ttgx—12ctgx+8=0
3+ sin 2x = 8cos® x

2sin 2x + 3cos 2x =2

Pemute TpuroHoMeTpuueckme
YpaBHEHHs:

1. 3sin®x—5sinx-8=0
10sin®x + 17cos x — 16 = 0

sin” x + 8sin x cos x + 12cos? x =0

IS

4tgx—9ctgx+9=0

14sin” x — 4cos® x = 5sin 2x

i

1 — 5sin 2x - cos 2x = 12c0s® x

Pewnre TpuroHoMeTpuieckue
YpaBHEHHUSI:

1. 10cos’x+ 17cosx+6=0
3cos?x + 10sinx—10=0

2sin’ x + 9sin x cos x + 10cos* x =0
3tgx—12ctgx+5=0
10sin® x - 3sin 2x =8

11sin 2x — 6cos® x + 8cos 2x = 8

Pewnte TpuroHomMeTpuyeckie
YpaBHEHHSI:

1. 3cos’x—5cosx—8=0
8cos? x— 14sinx+1=0
Ssin®x+ 14sinx cos x + 8 cos’x =0
2tgx—9ctgx+3=0

sin” x — Scos? x = 2sin 2x

5¢c0s 2x + 5 = 8sin 2x — 6sin’ x

Pelunre tpuronomeTpudeckue
ypaBHEHHUS:

1. 2cos’x—5cosx—7=0
2. 12cos’x +20sinx—19=0
Ssin® x+ 12sin x cos x + dcos? x =0
2tgx—6etgx+11=0

22sin” x — 9sin 2x =20

14cos® x — 2cos 2x = 9sin 2x — 2

Pewnte TpHroHOMeTpHYECKHE
ypaBHEHHS:

1. 8cos’x+ ldcosx—9=0
3cos?x+Ssinx+5=0

2sin”x+ 11sin x cos x + Scos’ x =0

SIS

Stgx—3ctgx+14=0
2sin’ x — 7sin 2x = 16cos x

14sin® x + 4cos 2x = 11sin 2x — 4





